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Quel est le périmètre de ce polygone ?

5 cm

p = ……….. 


cm

Nive
au 2

Quel est le périmètre de ce polygone ?

4,5 cm

p = ……….. 


cm

Nive
au 2

Quel est le périmètre de ce polygone ?
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Quel est le périmètre de ce polygone ?
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P = 20 cm 
P = 14 cm

P = 24 cmP = 18 cm
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Quel est le périmètre de ce polygone ?
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Quel est le périmètre de ce polygone ?

p = ……….. 
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Quel est le périmètre de ce polygone ?

p = ……….. 
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Quel est le périmètre de ce polygone ?

3 cm

4,5 cm

6 cm

3 cm

5,5 cm

2,5 cm

8 cm

20

mm

4,5 cm



P = 24 cm 
P = 15 cm

P = 27 cmP = 29 cm


